

Special Diophantine Triples Involving Square Pyramidal Numbers



C.Saranya, B. Achya

Abstract:In this communication, we accomplish special Diophantine triples comprising of square pyramidal numbers such that the product of any two members of the set added by their sum and increased by a polynomial with integer coefficient is a perfect square

Keywords:Special Diophantine Triples, Square Pyramidal Number, Perfect Square.

I. INTRODUCTION

Number theory is fascinating on the grounds that it has such a large number of open problems that seem accessible from the outside. Of course, open problems in number theory are open for a reason. Numbers, despite being simple, have an incredibly rich structure which we only understand to a limited degree. In the mid twentieth century, Thue made an important breakthrough in the study of Diophantine equations. His proof is one of the polynomial methods His proof impacted a great deal of later work in number theory, including Diophantine equations. Various mathematicians considered the problem of the existence of Diophantine triples with the property $D(n)$ for any integer n and besides for any linear polynomial in n [1-5]. Right now, one may suggest for an extensive survey of different issues on Diophantine triples[6-7]. In [8-9], square pyramidal numbers were evaluated using Z-transform and division algorithm. In [10-12], Diophantine triples were discussed. In this paper, we exhibit special Diophantine triples (a, b, c) involving square pyramidal number such that the product of any two elements of the set added by their sum and increased by a polynomial with integer coefficient is a perfect square.

II. NOTATION

p_n^4 : square pyramidal number of rank n .

III. BASIC DEFINITION

A set of three different polynomials with integer coefficients (a_1, a_2, a_3) is said to be a special Diophantine triple with property $D(n)$ if $a_i * a_j + (a_i + a_j) + n$ is a perfect square for all $1 \leq i < j \leq 3$, where n may be non-zero integer or polynomial with integer coefficients.

Manuscript received on April 12, 2021.

Revised Manuscript received on April 28, 2021.

Manuscript published on October 10, 2021.

* Correspondence Author

C.Saranya*, Assistant Professor, PG & Research Department of Mathematics, Cauvery College for Women, (Autonomous, (Affiliated to Bharathidasan University), Trichy-18. E-mail: c.saranyavinooth@gmail.com

B. Achya, PG student, PG & Research Department of Mathematics, Cauvery College for Women, (Autonomous, (Affiliated to Bharathidasan University), Trichy-18. E-mail: achya99b@gmail.com

© The Authors. Published by Lattice Science Publication (LSP). This is an open access article under the CC BY-NC-ND license (<http://creativecommons.org/licenses/by-nc-nd/4.0/>)

Retrieval Number: 100.1/ijam.B1108101221
DOI: 10.54105/ijam.B1108.101221
Journal Website: www.ijam.latticescipub.com

IV. METHOD OF ANALYSIS

A. Construction of the special dio-3 triples involving square pyramidal number of rank n and $n - 1$

Let $a = 6p_n^4$ and $b = 6p_{n-1}^4$ be square pyramidal numbers of rank n and $n - 1$ respectively.

Now, $a = 6p_n^4$ and $b = 6p_{n-1}^4$

$$ab + (a + b) + n^4 - 4n + 1 = 4n^6 - 4n^4 + 4n^3 + n^2 - 2n + 1 = (2n^3 - n + 1)^2 = \alpha^2$$

(1)

Equation (1) is a perfect square.

$$ab + (a + b) + n^4 - 4n + 1 = \alpha^2 \text{ where } \alpha = 2n^3 - n + 1$$

Let c be non zero-integer such that,

$$ac + (a + c) + n^4 - 4n + 1 = \beta^2$$

(2)

$$bc + (b + c) + n^4 - 4n + 1 = \gamma^2$$

(3)

$$\text{Solving (2) \& (3)} \Rightarrow c(b - a) + (b - a) = b\beta^2 - a\gamma^2 \quad (4)$$

$$(3) - (2) \Rightarrow \gamma^2 - \beta^2 = c(b - a) + b - a$$

Therefore (4) becomes,

$$\gamma^2 - \beta^2 = b\beta^2 - a\gamma^2$$

$$(b + 1)\beta^2 - (a + 1)\gamma^2$$

Setting $\beta = x + (a + 1)y$ and $\gamma = x + (b + 1)y$,

$$\Rightarrow (b + 1)(x + (a + 1)y)^2 - (a + 1)(x + (b + 1)y)^2$$

(5)

Now put $y = 1$,

$$x^2 = (2n^3 - n + 1)^2$$

$$\Rightarrow x = (2n^3 - n + 1)$$

The initial solution of (5) is given by,

$$x_0 = (2n^3 - n + 1), y_0 = 1$$

Since, $\beta = x + (a + 1)y$ and $\gamma = x + (b + 1)y$, we obtain that,

$$\beta = 4n^3 + 3n^2 + 2$$

Therefore, the equation (2) becomes,

$$(2) \Rightarrow ac + (a + c) + n^4 - 4n + 1 = \beta^2$$

$$\Rightarrow c(a + 1) + a + n^4 - 4n + 1 = \beta^2$$

$$\Rightarrow c(2n^3 + 3n^2 + n + 1) + (2n^3 + 3n^2 + n) + n^4 - 4n + 1$$

$$= \beta^2$$

$$\Rightarrow c(2n^3 + 3n^2 + n + 1) + (2n^3 + 3n^2 + n) + n^4 - 4n + 1$$

$$= (4n^3 + 3n^2 + 2)^2$$

$$\Rightarrow c = 8n^3 + 3$$

$$\Rightarrow c = (2(a + b - 4n + 3))$$

Therefore, the triples



$\{a, b, (2(a + b - 4n + 3))\}$
 $= \{6p_n^4, 6p_{n-1}^4, (2(6p_n^4 + 6p_{n-1}^4 - 4n + 3))\}$ is
 a
 Diophantine triples with the property $D(n^4 - 4n + 1)$.
 Some numerical examples are given below in the following
 table.

Table 1

n	Diophantine Triples	$D(n^4 - 4n + 1)$
1	(6,0, 11)	-2
2	(30,6,67)	9
3	(84,30,219)	70

B. Construction of the special dio-3 triples involving square pyramidal number of rank n and $n - 2$

Let $a = 6p_n^4$ and $b = 6p_{n-2}^4$ be square pyramidal numbers of rank n and $n - 2$ respectively.

Now, $a = 6p_n^4$ and $b = 6p_{n-2}^4$
 $ab + (a + b) - 2n^3 + 3n^2 - 16n + 10$
 $= 4n^6 - 12n^5 + n^4 + 20n^3 - 8n^2 - 8n + 4$
 $= (2n^3 - 3n^2 - 2n + 2)^2 = \alpha^2(6)$

Equation (6) is a perfect square.

$ab + (a + b) - 2n^3 + 3n^2 - 16n + 10 = \alpha^2$,
 where $\alpha = 2n^3 - 3n^2 - 2n + 2$

Let c be non zero-integer such that,

$ac + (a + c) - 2n^3 + 3n^2 - 16n + 10 = \beta^2$
 (7)

$bc + (b + c) - 2n^3 + 3n^2 - 16n + 10 = \gamma^2$

Solving (7) & (8) $\Rightarrow c(b - a) + (b - a) = b\beta^2 - a\gamma^2$ (9)

(8) - (7) $\Rightarrow \gamma^2 - \beta^2 = c(b - a) + b - a$

Therefore (9) becomes,

$\gamma^2 - \beta^2 = b\beta^2 - a\gamma^2$
 $(b + 1)\beta^2 - (a + 1)\gamma^2$

Setting $\beta = x + (a + 1)y$ and $\gamma = x + (b + 1)y$
 $\Rightarrow (b + 1)(x + (a + 1)y)^2 - (a + 1)(x + (b + 1)y)^2$ (10)

Now put $y = 1$,

$x^2 = (2n^3 - 3n^2 - 2n + 2)^2$
 $\Rightarrow x = (2n^3 - 3n^2 - 2n + 2)$

The initial solution of (10) is given by,

$x_0 = (2n^3 - 3n^2 - 2n + 2)$, $y_0 = 1$

Since, $\beta = x + (a + 1)y$ and $\gamma = x + (b + 1)y$, we obtain that,

$\beta = 4n^3 - n + 3$

Therefore, the equation (7) becomes,

(7) $\Rightarrow ac + (a + c) - 2n^3 + 3n^2 - 16n + 10 = \beta^2$
 $\Rightarrow c(a + 1) + a - 2n^3 + 3n^2 - 16n + 10 = \beta^2$
 $\Rightarrow c(2n^3 + 3n^2 + n + 1) + (2n^3 + 3n^2 + n) - 2n^3 + 3n^2 - 16n + 10 = \beta^2$
 $\Rightarrow c(2n^3 + 3n^2 + n + 1) + (2n^3 + 3n^2 + n) - 2n^3 + 3n^2 - 16n + 10 = (4n^3 - n + 3)^2$
 $\Rightarrow c = 8n^3 - 12n^2 + 10n - 1$
 $\Rightarrow c = (2(a + b) - 18n + 11)$

Therefore, the triples

$\{a, b, (2(a + b) - 18n + 11)\}$
 $= \{6p_n^4, 6p_{n-2}^4, (2(6p_n^4 + 6p_{n-2}^4) - 18n + 11)\}$ is
 a Diophantine triples with the $D(-2n^3 + 3n^2 - 16n + 10)$.
 Some numerical examples are given below in the following
 table.

Table 2

n	Diophantine Triples	$D(-2n^3 + 3n^2 - 16n + 10)$
1	(6,0, 5)	-5
2	(30,0,35)	-26
3	(84,6,137)	-65

C. Construction of the special dio-3 triples involving square pyramidal number of rank n and $n - 3$

Let $a = 6p_n^4$ and $b = 6p_{n-3}^4$ be square pyramidal numbers of rank n and $n - 3$ respectively.

Now, $a = 6p_n^4$ and $b = 6p_{n-3}^4$
 $ab + (a + b) + n^4 - 18n^2 - 22n + 7$
 $= 4n^6 - 24n^5 + 32n^4 + 40n^3 - 83n^2 - 14 + 49$
 $= (2n^3 - 6n^2 - n + 7)^2 = \alpha^2(11)$

Equation (11) is a perfect square.

$ab + (a + b) + n^4 - 18n^2 - 22n + 7 = \alpha^2$,

where $\alpha = 2n^3 - 6n^2 - n + 7$

Let c be non zero-integer such that,

$ac + (a + c) + n^4 - 18n^2 - 22n + 7 = \beta^2$
 (12)

$bc + (b + c) + n^4 - 18n^2 - 22n + 7 = \gamma^2$
 (13)

Solving (12) & (13) $\Rightarrow c(b - a) + (b - a) = b\beta^2 - a\gamma^2$ (14)

(13) - (12) $\Rightarrow \gamma^2 - \beta^2 = c(b - a) + b - a$

Therefore (14) becomes,

$\gamma^2 - \beta^2 = b\beta^2 - a\gamma^2$
 $(b + 1)\beta^2 - (a + 1)\gamma^2$

Setting $\beta = x + (a + 1)y$ and $\gamma = x + (b + 1)y$,

$\Rightarrow (b + 1)(x + (a + 1)y)^2 - (a + 1)(x + (b + 1)y)^2$ (15)

Now put $y = 1$,

$x^2 = (2n^3 - 6n^2 - n + 7)^2$
 $\Rightarrow x = (2n^3 - 6n^2 - n + 7)$

The initial solution of (15) is given by,

$x_0 = (2n^3 - 6n^2 - n + 7)$, $y_0 = 1$

Since, $\beta = x + (a + 1)y$ and $\gamma = x + (b + 1)y$, we obtain that,

$\beta = 4n^3 - 3n^2 + 8$

Therefore, the equation (12) becomes,

(12) $\Rightarrow ac + (a + c) + n^4 - 18n^2 - 22n + 7 = \beta^2$
 $\Rightarrow c(a + 1) + a + n^4 - 18n^2 - 22n + 7 = \beta^2$
 $\Rightarrow c(2n^3 + 3n^2 + n + 1) + (2n^3 + 3n^2 + n) + n^4 - 18n^2 - 22n + 7 = \beta^2$
 $\Rightarrow c(2n^3 + 3n^2 + n + 1) + (2n^3 + 3n^2 + n) + n^4 - 18n^2 - 22n + 7 = (4n^3 - 3n^2 + 8)^2$
 $\Rightarrow c = 8n^3 - 24n^2 + 36n - 15$
 $\Rightarrow c = (2(a + b) - 40n + 45)$

Therefore, the triples

$\{6p_n^4, 6p_{n-3}^4, (2(6p_n^4 + 6p_{n-3}^4) - 40n + 45)\}$ is a
 Diophantine triples with the property $D(n^4 - 18n^2 - 22n + 7)$.

Some numerical examples are given below in the following
 table.



Table 3

n	Diophantine Triples	$D(n^4 - 18n^2 - 22n + 79)$
1	(6, -6, 5)	40
2	(30,0,25)	-21
3	(83,0,93)	-68

V. CONCLUSION

We have presented the special Diophantine triples involving square pyramidal numbers. To conclude one may look for triples or quadruples for different numbers with their relating properties.

REFERENCES

1. Carmichael, R.D. (1959). "History of Theory of numbers and Diophantine Analysis", Dover Publication, Newyork.
2. Mordell, L.J. (1969). "Diophantine equations", Academic press, London.
3. Nagell, T. (1981). "Introduction to Number theory", Chelsea publishing company, Newyork.
4. Hua, L.K. (1982). "Introduction to the Theory of Numbers", Springer-Verlag, Berlin-Newyork.
5. Oistein Ore (1988), "Number theory and its History", Dover publications, Newyork.
6. Fujita, Y. (2008) "The extendability of Diphantine pairs $\{k-1, k+1\}$ ", Journal of Number Theory, 128, 322-353.
7. Gopalan, M.A. and Pandichelvi, V. (2009), "On the extendability of the Diophantine triple involving Jacobsthal numbers $(J_{2n-1}, J_{2n+1} - 3, 2J_{2n} + J_{2n-1} + J_{2n+1} - 3)$ ", International Journal of Mathematics & Applications, 2(1), 1-3.
8. Janaki, G. and Saranya, C. (2017), "Special Dio 3-tuples for pentatope number", Journal of Mathematics and Informatics, vol.11, Special issue, 119-123.
9. Janaki, G. and Saranya, C. (2018), "Construction of the Diophantine Triple involving Pentatope Number", International Journal for Research in Applied Science & Engineering Technology, vol.6, issue III, 2317-2319.
10. Janaki, G. and Saranya, C. (2019), "Half companion sequences of special dio 3-tuples involving centered square numbers", International Journal for Recent Technology and Engineering, vol.8, issue 3, 3843-3845.
11. Saranya C., and Janaki G. (2019), "Some Non-extendable Diophantine Triples involving centered square numbers", International Journal of Scientific Research in Mathematical and Statistical Sciences, vol6, Issue 6, 105-107.
12. Saranya C., and Janaki G. (2019) "Solution Of Exponential Diophantine Equation Involving Jarasandha Numbers", Advances and Applications in Mathematical Sciences, Volume 18, Issue 12, 1625-1629, Oct 2019.

AUTHORS PROFILE



Ms.C.Saranya, received the B.Sc., M.Sc., And M.Phil., degree in Mathematics from Bharathidasan University, Tiruchirappalli, South India. Her ongoing research focusing on the subject of Number Theory. She published nearly 34 papers in reputed international journals. Her research area is Number Theory.



Ms.B.Achya, received the B.Sc., M.Sc., degree in Mathematics from Cauvery College for Women, Bharathidasan University, Tiruchirappalli, South India.

